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FzÉmod PcxD

PGE) = irreducible poly
in Fdg

degcpcxs)=K .

Let Pan)=o
,
A- root of Pee)

✗c- Fzk ✗ ¢Fz

operations in Fe .

① Reduce coefficients
(mod 2)

② Reduce all computations

{mod PKD



Any element A in Fzk

d- = 90+9×-1 -
- - - - + gaff

'

ai C- { 0,13=11

Fzz = Fzck] kneed ✗7×+1)
✗2+4+1 =0 .
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Compute inverses
.

A C- ZPFFP a. a¥= I

GCD ( 9 b) = I

5. a + tip = I Cmod f)

⇒ sa = I@od f)

→¥T¥iFp=Zp
How

would you
use this

in Fzk ?

[Think- Hw ! !]



Generally. denote Eq orGFGP .

qgpk ( 2k in Le )
.

If Poe)= Primitive poly .

PCL ) -0, a- primitiveroot
.

Then for {0,1--4%2,2}
- . -

; 29-23

If Ptsd = irreducible,but
not primitive,

the we cannot generate
all

elements of the field
.



Algebraically Closed Field
CACF)

f- = ACF iff

peas c- f-EM
,

Bento ⇒ ✗ c- E.

R : ✗2+1
,
XE-1

se = ± i

i ¢ R
R FACE .

G- ACF .

ACF = infinite field



Fg = N ACF

Every field IF C IF
I = ACF .

/Fq GIFT←ACF.

E- = In

④←*



Eia Ese? ☒ =o

2[⇒ Q

f =L? x2 + a99.x + ✗203

pen to
Fa .

fc⇒⇒e
th ✗

9=✗
✗9-a =0
•

Vanishing poly of Fs .



£00.

, fzcx) C-Fix .

Prove .

" I =p_x_

fix> Ifzcse,

v-x.se?-aefiCD-fc*=gcse)*--e--of-=fz
⇐ goes __ o.info .

→

kg 8=0--0
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✗5=23+4-11
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